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DATE: 26.11.2021 MAXIMUM MARKS: 100  TIMING: 3 Hours 
 

  BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING 
 

Question No. 1 is Compulsory. Answer any four question from the remaining five questions. 

Wherever necessary, suitable assumptions should be made and disclosed by way of note 

forming part of the answer.  

Working Notes should from part of the answer.  
 

 

Answer 1: 

(a) (i) ;g ,d fufgr lafonk gS vkSj , dks mlds }kjk of.kZr dqyh dh lsokvksa ds fy, Hkqxrku djuk 

gksxkA  

 varfuZfgr lafonk % fufgr lafonk fufgrkFkZ ls vfLrRo esa vkrs gSaA vDlj fufgrkFkZ dkuwu vkSj 

;k dkjZokbZ }kjk gksrk gSA vf/kfu;e dh /kkjk 9 ,sls fufgr lafonksa ij fopkj djrh gS tc ;g 

fu/kkZfjr djrh gS fd tgkWa rd bl rjg ds izLrko ;k Lohd`fr 'kCnksa ds vykok vU;Fkk dh 

tkrh gS] oknk fufgr dgk tkrk gSA  

 (ii) [kks, gq, eky ds [kkstdrkZ dks okLrfod ekfyd dks okil djus ds fy, nkf;Ro dks lafonk ls 

mRiUu ugha dgk tk ldrk gS] ;gkWa rd fd blds nwjLFk vFkZ esa Hkh ugha gS] D;ksafd u rks 

izLrko vkSj Lohd`fr gS vkSj u gh lgefr gSA bUgsa v/kZ&lafonk dgk tkrk gSA  

  v/kZ&lafonk % ,d v/kZ&lafonk ,d okLrfod lafonk ugha gS] ysfdu ;g ,d lafonk tSlk 

fn[krk gSA ;g dqN ifjfLFkfr;ksa esa dkuwu }kjk cuk;k x;k gSA tc dksbZ okLrfod lafonk 

ekStwn ugha gksrk gS rks dkuwu dkuwuh vf/kdkjksa vkSj nkf;Roksa dks cukrk gS vkSj ykxw djrk gSA 

,sls nkf;Roksa dks v/kZ&lafonk ds :i esa tkuk tkrk gSA nwljs 'kCnksa esa] ;g ,d lafonk gS 

ftlesa lafonk djus ds fy, fdlh Hkh i{k dh vksj ls dksbZ bjknk ugha gS] ysfdu dkuwu 

i{kdkjksa ij ,d lafonk ykxw djrk gSA  

 (iii) Åij ds lafonk ,d 'kwU; lafonk gSA  

  'kwU; lafonk % /kkjk 2 ¼ts½ esa fuEukuqlkj dgk x;k gS % Þ,d lafonk tks dkuwu }kjk ykxw gksus 

;ksX; ugha jg tkrk gS] tc og ykxw gksuk can gks tkrk gS rks og 'kwU; gks tkrk gSAß bl 

izdkj] ,d 'kwU; lafonk og gS ftls dkuwu dh vnkyr }kjk ykxw ugha fd;k tk ldrk gSA  

 

Answer: 

(b) (a) ;g ,d oS/k Li"V lafonk gSA 

 (b) ;g ,d lafonk ugha gS D;ksafd ;g ,d lkekftd le>kSrk gSA 

 (c) ;g ,d varfuZfgr lafonk gSA A cl ds fdjk, dk Hkqxrku djus ds fy, ck/; gSA  

 (d) ;g ,d dkuwuh laca/k cukus ds bjkns ds fcuk ,d lkekftd le>kSrk gSA  

 

Answer 2: 

(a) dsoy ekSu diV ds leku ugha gS % fdlh O;fDr dh lafonk esa izos'k djus dh bPNk dks izHkkfor djus okys 

rF;ksa ds ckjs esa dsoy ekSu diV ugha gS] ysfdu tgkWa cksyuk fdlh O;fDr dk drZO; gS] ;k mldh pqIih 

Hkk"k.k ds cjkcj gS] ekSu diV ds cjkcj gSA ;g dkuwu dk ,d fu;e gS fd dsoy ekSu jgus ls diV ugha 

gksrh gSA ,d lafonk djus okyk i{k nwljs i{k dks iwjh lPpkbZ dk [kqyklk djus ;k lafonk dh fo"k; oLrq 

dks izHkkfor djus okyh iwjh tkudkjh nsus ds fy, ck/; ugha gSA fu;e Hkkjrh; lafonk vf/kfu;e dh /kkjk 

17 ds Li"Vhdj.k esa fufgr gS tks Li"V :i ls fLFkfr crkrk gS fd fdlh O;fDr dh lafonk esa izos'k djus 

dh bPNk dks izHkkfor djus okys rF;ksa ds ckjs es dsoy ekSu diV ugha gSA  

 bl fu;e ds viokn%  

(i) tgkWa ekeys dh ifjfLFkfr;kWa ,slh gksa fd mUgsa /;ku esa j[krs gq,] pqi jgus okys O;fDr dk 

drZO; gS fd og cksysaA cksyus dk drZO; rc mRiUu gksrk gS tc ,d lafonk djus okyk i{k 
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nwljs ij fo'okl vkSj fo'okl j[krk gS ;k tgkWa ,d i{k dks nwljs dh vPNh le> ¼tSls chek 

lafonk½ ij fuHkZj gksuk iM+rk gSA  

(ii) ekSu vius vki esa] Hkk"k.k ds cjkcj gSA  

 

Answer: 

(b) Hkkjrh; vuqca/k vf/kfu;e 1872 dh /kkjk 42 ds vuqlkj tc nks ;k vf/kd O;fDr;ksa us la;qDr opu 

fn;k gks rks vuqca/k ls foijhr vk’k; izdV u gksus ij] opunkrkvksa dks la;qDr :Ik ls vuqca/k dk 

fu"iknu djuk pkfg,A muesa ls fdlh Hkh e`R;q gksus ij mlds mRrjkf/kdkjh] thfor opunkrkvksa ds 

lkFk la;qDr :Ik ls vuqca/k dk fu"iknu djsaxsA lHkh opunkrkvksa dh e`R;q gksus dh n’kk esa mu lHkh ds 

mRrjkf/kdkjh feydj vuqca/k dk fu"iknu djsaxsA 

/kkjk 43 ds vuqlkj opuxzghrk fdlh Hkh la;qDr opunkrk ls vuqca/k dk fu"iknu djk ldrk gSA bl 

izdkj ls la;qDr opunkrk dk nkf;Ro dsoy la;qDr gh ugha] cfYd la;qDr ,oa i`Fkd Hkh gksrk gSA /kkjk 

43 ds vuqlkj vuqca/k ls foijhr vk’k; izdV u gksus ij opuxzghrk buesa ls fdlh ,d vFkok vf/kd 

la;qDr opunkrkvksa dks fu"iknu djus ds fy, ck/; dj ldrk gSA  

/kkjk 43 la;qDr opunkrkvksa dh n’kk esa va’knku ds fo"k; esa o.kZu djrh gSA opuxzghrk izR;sd 

opunkrk dks cjkcj dk va’knku djus ds fy, ck/; dj ldrs gS ¼tc rd fd vuqca/k ls bldk 

foijhr vk’k; izdV u gksrk gks½ ;fn dksbZ Hkh la;qDr opunkrk viuk va’knku nsus esa vleFkZ gS rks 

ckdh ds la;qDr opunkrk bl deh dks cjkcj&cjkcj vuqikr esa iwjk djsaxsaA  

 mi;qZDr /kjkvksa ds izko/kkuksa das vuqlkj%  

 ¼1½  Y, X o Z ls va’knku ekax ldrk gS] D;ksafd XYZ la;qDr opunkrk gSA  

 ¼2½  X ds mRrjkf/kdkjh Y dks va’knku nsus ds fy, nk;h gS] ysfdu ,d mRrjkf/kdkjh dk nkf;Ro 

mls mRrjkf/kdkj esa feyus okyh lEifRr rd lhfer gSA  

 ¼3½  Y o Z dh lEifRr esa ls va’knku izkIr dj ldrk gSA  

 

Answer 3:  

(a) fuEufyf[kr xfHkZr vk’oklu gksrs gSa %& 

1. ’kkfUriw.kZ dCts dk vk’oklu % ,d xfHkZr vk’oklu ls rkRi;Z gS fd Øsrk dks ’kkfUriwoZd 

rjhds ls oLrq ds iz;ksx djus dk vf/kdkj gksxkA vFkkZr~ ;fn Øsrk us eky dks dCts esa ys 

fy;k gS vkSj ckn esa bl vf/kdkj esa ck/kk Mkyh tkrh gS] rc mls foØsrk ij vk’oklu Hkax 

djus ds fy, okn izLrqr djus dk vf/kdkj gS tc rd fd vuqcU/k dh ifjfLFkfr;kas ls fdlh 

fHkUu vFkZ dk irk u pyrk gksA 

2. Hkkj eqDr gksus dk vk’oklu % ,d xfHkZr vk’oklu dh oLrq,¡ fdlh rhljs Ik{k ds izfr ftlds 

fo"k; esa Øsrk dks vuqcU/k ds le; vFkok mlls iwoZ dksbZ lwpuk ugha nh xbZ Fkh vFkok mls 

irk ugha Fkk] Hkkj eqDr gksaxhA 

mnkgj.k % *v* us 15]000 :- ds _.k ds fy, *l* ds ikl viuh dkj dks fxjoh j[kk rFkk 

mldks dkj dk vxys fnu dCtk nsus dk opu fn;kA *v* us] fQj rqjUr gh dkj dks *c* dks 

csp fn;k ftlus bl rF; dks tkus fcuk] ln~Hkkouk esa dkj dks [kjhn fy;kA *c* ;k rks _.k 

ykSVkus ds fy, *v* dsk dg ldrk gS ;k Lo;a iSlk pqdk ldrk gS rFkk fQj C;kt ds lkFk 

jde okfilh ds fy, *v* ds fo:) okn nk;j dj ldrk gSA 

3. eky ds [krjukd gksus ds fo"k; esa lwpuk % foØsrk ds }kjk ,d vkSj xfHkZr vk’oklu gksrk gS 

fd ;fn oLrq ewy :i ls [krjukd gS vFkok Øsrk ds fy, blds [krjukd gksus dh laHkkouk gS 

vkSj Øsrk mDr [krjs ds izfr vufHkK gS rc foØsrk ds fy, ;g vko’;d gS fd og Øsrk dks 

lEHkkfor [krjs ds lEcU/k esa psrkouh nsA ;fn bl vk’oklu dks Hkax fd;k tkrk gS rc foØsrk 

gtkZuk nsus ds fy, mRrjnk;h gksxkA   
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4. xq.koRrk ;k mi;qDrrk ds izfr O;kikj ds rkSj&rjhds ds }kjk vk’oklu % fdlh mÌs’; fo’ks"k 

ds fy, xq.koRrk ;k mi;qDrrk ds izfr ,d xfHkZr vk’oklu O;kikj ds rkSj&rjhdksa }kjk tksM+k 

tk ldrk gSA 

mnkgj.k % uhykeh }kjk MªXl csps x;s rFkk O;kikj dh ijEijk ds vuqlkj vfxzer% ;g crkuk 

t:jh Fkk fd MªXl dh xq.koRrk esa mRiUu Hkkjh dksbZ gkfu gks ldrh gSA bls vk’oklu Hkax 

ekuk tk;sxk ;fn ,slh dksbZ vfHkO;fDr ugha dh tkrh rFkk eky dks nks"kiw.kZ ik;k tkrk gSA 

 

Answer: 

(b) ;fn foØsrk vuqcU/k Hkax djrk gS rks Øsrk dks foØsrk ds fo:) fuEu vf/kdkj fey tkrs gSaA 

1. lqiqnZxh u nsus ds fy;s gtkZuk & tgk¡ foØsrk xyrh ls Øsrk dks eky dh lqiqnZxh djus ls 

euk djrk gS ;k ykijokgh fn[kkrk gS rks Øsrk xSj&lqiqnZxh ds fy, gtkZus gsrq foØsrk ij okn 

dj ldrk gSA 

2. fof'k"V fu"ifr ds fy, okn & tgk¡ foØsrk foØ; ds vuqcU/k dk fo[k.Mu djrk gS rks Øsrk 

fof'k"V fu"ifÙk ds fy, U;k;ky; esa vihy dj ldrk gSA U;k;ky; fof'k"V fu"ifr ds fy, 

vkns'k ns ldrk gS dsoy tc % 

(a) eky fufnZ"V rFkk fof'k"V gksrk gS 

(b) gtkZus vi;kZIr gks( ;k 

(c) eky vn~Hkqr rFkk dherh gksA 

3. vko'oklu Hkax ds fy, okn & tgk¡ foØsrk dh vksj ls vk'oklu Hkax gqvk gS ;k tgk¡ 'krZ 

Hkax dks vk'oklu Hkax ds :i esa ysus dk p;u djrk gS rks Øsrk,sls vk'oklu Hkax ds vk/kkj 

ij eky dks vLohdkj djus dk vf/kdkj ugha j[krkA ysfdu og & 

    (a) ewY; dks de djus ;k ladqfpr djus esa vk'oklu Hkax dks foØsrk ds fo:) [kM+k dj 

ldrk gS( ;k 

    (b) vk'oklu Hkax ds fy, gtkZus gsrq foØsrk ij okn dj ldrk gSA 

4. ns; frfFk ls iwoZ foØsrk }kjk vuqcU/k Hkax ds fy, gtkZus gsrq okn & Øsrk vuqcU/k dks tkjh 

ekudj py ldrk gS rFkk lqiqnZxh dh frfFk dh izrh{kk dj ldrk gS ;k og vuqcU/k dks Hkax 

ekudj py ldrk gS rFkk eky gsrq gtkZus ds fy, okn dj ldrk gSA 

5. C;kt gsrq okn & Øsrk pqdkbZ xbZ jkf'k dks olwy djus ds fy, fo'ks"k gtkZus ;k C;kt olwy 

djus dk vf/kdkj j[krk gS tgk¡ Hkqxrku gsrq izfrQy vlQy gks pqdk gSA 

   mnkgj.k &  

a. flxjsVksa ds foØ; ds ekeys esa] tks mi;ksx ds fy, vuqi;qDr ikbZ tkrh gSa vuqcU/k 

ewY; rFkk fjyht fd;s x;s ewY; ds chp vUrj ds vk/kkj ij gtkZus fn;s x;sA 

b. vf/kdkj ds gLrkarj.k o iathdj.k dh vuqifLFkfr dh n'kk esa] Øsrk 'krksZ ds Hkax ds 

fy, gtkZuk ugha ek¡x ldrk gS rFkk foØ; ds lEcU/k esa vk'okluksa ds fo[k.Mu gsrq 

{kfriwfrZ dk nkok ugh dj ldrk gSA 

 

Answer 4: 

(a) vkUrfjd izcU/k fl)kUr dh foospuk jkW;y fczfV'k cSad cuke rkjdq.M ¼1956½ 6E ,.M B 327 esa fd;k 

x;k FkkA bl ekeys esa Hkh vkj-ch-ch- ds funsZ'kdksa us ,d ckW.M fn;k FkkA dEiuh ds vUrfuZ;eksa ds }kjk 

funsZ'kdksa dks mfpr izLrko ikfjr djok ysus ds mijkUr gh ckW.M tkjh djus dk vf/kdkj iznku fd;k 

FkkA mijksDr ds gksrs gh ;g fu.kZ; fn;k x;k fd ckW.M ds fy, T nkok dj ldrk gS] D;ksafd mls ;g 

vf/kdkj izkIr gS fd og ;g ekus fd ,slk izLrko ikfjr djok fy;k x;k gksxkA bl izdkj og O;fDr 

tks dEiuh ds lkFk O;ogkj dj jgs gSa mUgsa ;g ekuus dk vf/kdkj gS fd funsZ'kdksa ;k mlds vf/kdkjh 

tks d`R; dj jgs gSa og oS/kkfud :i ls fd;s tk jgs gSa ;fn ,sls d`R; mudks iznRr vf/kdkj {ks= esa 

vkrs gSaA ij ;g fl)kUr ogk¡ ij ykxw ugha gksrk gS tgk¡ ij tks O;fDr dEiuh ls O;ogkj dj jgk gS 
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vxj mls ;g lwpuk Fkh fd dEiuh esa vfu;ferrk gks jgh gS ;k tgk¡ ij og O;fDr tks dEiuh ls 

O;ogkj dj jgk gS ml ij dksbZ tk¡p dh tkrh gS ;k tc dksbZ izi= ftls ;g ekuk tkrk gS fd og 

dEiuh dh vksj ls tkjh fd;k x;k gS ;k cuk;k x;k gS og diViw.kZ vkSj tkyh gS rks ml O;fDr dks 

bl fl)kUr dk dksbZ ykHk ugha feyrk gSA  

nh xbZ leL;k esa vkUrfjd izcU/k dk fl)kUr ykxw ugha gks ldrk gS D;ksafd izi= diViw.kZ ,oa tkyh 

gSA tks fd A dks vf/kdkj ugha nsrs gSa vkSj blh izdkj B dks Hkh vf/kdkj ugha feyrs gSaA [kjhnkj dk 

vf/kdkj cspus okys ds vf/kdkj ls vPNk ugha gks ldrk gS ¼eky cspku vf/kfu;e 1930½ blfy, B 

va'kksa dks vius uke esa iathd`r djokus esa leFkZ ugha gksxkA  

 

Answer: 

(b) gka] daiuh vf/kfu;e] 2013 dh /kkjk 8 ds izko/kkuksa dk ikyu djrs gq, daiuh vf/kfu;e] 2013 ds rgr~ 

,d xSj&ykHkdkjh laxBu dks ,d daiuh ds :i esa iathd`r fd;k tkuk pkfg,A daiuh vf/kfu;e] 

2013 dh /kkjk 8 mu daifu;ksa ds xBu ls lacaf/kr gS] ftudk xBu fd;k x;k gSA 

 okf.kT;] dyk] foKku] [ksy] f'k{kk] vuqla/kku] lekt dY;k.k] /keZ] nku] i;kZoj.k laj{k.k vkfn 

dh /kekZFkZ oLrqvksa dks c<+kok nsukA  

,slh daiuh vius ykHk dks ykxw dju dk bjknk j[krh gSA  

 vius lnL;ksa dks fdlh Hkh ykHkka'k ds Hkqxrku ij jksd yxkukA 

dsUnz ljdkj ds ikl /kkjk 8 daiuh dks iathd`r djus ds fy, ykblsal tkjh djus dh 'kfDr gSA  

(i) /kkjk 8 dsUnz ljdkj dks ,sls O;fDr ;k O;fDr;ksa ds la?k dks lhfer ns;rk okyh daiuh ds :i 

esa iathd`r djus dh vuqefr nsrh gS] blds uke esa ^fyfeVsM* ;k ^izkbosV fyfeVsM* 'kCn tksM+s 

fcuk] ,slh 'krksZ ij ykblsal tkjh djds tks og mfpr le>sA  

(ii) jftLVªkj vkosnu ij ,sls O;fDr ;k O;fDr;ksa ds la?k dks bl /kkjk ds rgr~ ,d daiuh ds :i 

esa iathd`r djsxkA  

(iii) iathdj.k ij daiuh dks ,d fyfeVsM daiuh ds leku fo'ks"kkf/kdkj vkSj nkf;Ro izkIr gksaxsA  

 

Answer 5: 

(a) fuEu dEifu;ksa ij dEiuh vf/kfu;e 2013 ds izko/kku ykxw gksrs gS% 

 bl vf/kfu;e ;k iwoZ dEiuh vf/kfu;e ds vUrxZr cuh dEiuhA  

 chek dEiuh ¼viokn% tc izko/kku] chek vf/kfu;e o vkbZ-vkj-Mh-, vf/kfu;e ds fo:) gSA½ 

 cSafdx dEiuh ¼viokn% tc izko/kku Banking Regulation Act ds fo:) gksaA½ 

 fctyh dEiuh ¼viokn% tc izko/kku Electricity Act ds fo:) gksaA ½ 

 fof’k"B vf/kfu;e ds }kjk lapkfyr dEiuhA 

 vU; fuxe fudk;] ftudk lekesyu fdlh vf/kfu;e ds vUrxZr gqvk gks vkSj dsUnzh; ljdkj 

}kjk vf/klwpuk tkjh dh xbZ gksaA  

 

Answer: 

(b) ifjfLFkfr;kWa ftuesa ,y,yih dks izkf/kdj.k }kjk lekIr fd;k tk ldrk gS ¼/kkjk 64½ % ,d ,y,yih 

izkf/kdj.k ds }kjk lekIr dh tk ldrh gS% 

 (a) ;fn ,y,yih fu.kZ; djrh gS fd ,y,yih izkf/kdj.k }kjk lekIr gks]  

 (b) ;fn Ng eghus ls vf/kd le; ds fy, ,y,yih ds Hkkxhnkjksa dh la[;k de gksdj nks ls uhps 

gks xbZ gks]  

 (c) ;fn ,y,yih _.k pqdkus esa v{ke gks] 

 (d) ;fn ,y,yih us Hkkjr dh laizHkqrk vkSj v[kaMrk] jkT; dh lqj{kk ;k lkoZtfud O;oLFkk ds 

fgrksa ds f[kykQ dke fd;k gS]  
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 (e) ;fn ,y,yih us yxkrkj ikap foRrh; o"kksZ ds fy, jftLVªkj ds ikl [kkrk vkSj 'kks/ku {kerk 

;k okf"kZd fjVuZ dk fooj.k nkf[ky djus esa pwd dh gS] ;k  

 (f) ;fn izkf/kdj.k dh jk; esa ,y,yih dks lekIr djuk mfpr vkSj U;k;ksfpr gSA  

 

Answer 6: 

(a) lk>snkjksa ds nkf;Ro%&  ¼/kkjk 9] 10½ 

(1) lk>snkjksa ds lkekU; dÙkZO; %& lk>snkjksa ds fy;s ;g vko';d gS fd og QeZ ds O;kikj dks 

(i) vf/kdkj lkekU; ykHkA (ii) ,d nwljs ds izfr U;k;iw.kZ rFkk fo'oklik= jgdjA (iii) fdlh 

lk>snkj vFkok mlds izfrfuf/k dks lgh fglkc&fdrkc rFkk QeZ ds dk;Z dks izHkkfor djus 

okys lgh rF;ksa dh lwpuk nsdj] pyk;sA  

(2) diV ;k tkucw>dj ykijokgh ds fy, {kfriwfrZ %& ;fn dksbZ lk>snkj QeZ ds O;kikj esa dksbZ 

diViw.kZ dk;Z ;k tkucw>dj ykijokgh djrk gS] rks blls gksus okyh gkfu ds fy, og vU; 

lk>snkjksa ds izfr {kfriwfrZ ds fy, mÙkjnk;h gksrk gSA  

(3) fcuk ikfjJfed ds foosdiwoZd dÙkZO;ksa dk fuokZg djuk %&  

 izR;sd lk>snkj ds fy;s ;g vko';d gS fd og QeZ ds O;kikj ls lEcU/k vius 

dÙkZO;ksa dk fuokZg ifjJeiwoZd djsaA  

 mldk dÙkZO; gS fd og vU; lk>snkjksa dks vius Kku vkSj ;ksX;rk dk ykHk mBkus dk 

volj nsaA  

(4) gkfu;ksa dks lka>k djuk %& lHkh lk>snkjksa ds fy, ;g vko';d gS fd og QeZ ds }kjk mBkbZ 

xbZ gkfu dk caVokjk leku :i ls djsaA 

(5) fdUgha ykHkksa dk fglkc nsuk %& ;fn dksbZ lk>snkj QeZ ds fy;s fd;s x;s fdlh ysunsu esa lsA  

vFkok 

QeZ dh vFkok QeZ ds O;kikfjd lEcU/kksa ls vFkok mlds uke ls vius fy;s dksbZ xqIr ykHk 

vftZr djrk gS] rks mlds fy, ;g vko';d gS fd og mDr izkIr gq, ykHk dk fglkc izLrqr 

djs vkSj mldk Hkqxrku QeZ dks djsaA  

(6) izfrLi)hZ O;olk; ds ykHkksa ds fy, fglkc nsuk rFkk Hkqxrku djuk %& ;fn ,d lk>snkj QeZ 

tSlk gh ;k mldk izfr;ksxh O;kikj djrk gS] rc mls QeZ dks mDr O;kikj ds leLr ykHkksa 

dk fglkc izLrqr djuk pkfg;s vkSj mls nsuk pkfg;s QeZ fdlh Hkh gkfu ds izfr mÙkjnk;h ugha 

gksxhA  

 

Answer: 

(b) lk>snkj dk fnokfy;kiu (Insolvency of a partner) %&  

 fnokfy;k lk>snkj dks ,d lk>snkj ds :i esa pyk;s ugha j[kk tk ldrk gSA 

 og Bhd mlh frfFk ls lk>snkj ugha jgsxk tc fnokfy;k vkns'k fn;k tkrk gSA 

 fnokfy;k lk>snkj dh lEifÙk;ka mlds fnokfy;k vkns'k dh frfFk ds ckn fd;s x;s QeZ ds 

dk;ksZa ds fy, nk;h ugha gksrhA 

 QeZ Hkh fnokfy;k vkns'k dh frfFk ds ckn fnokfy;k lk>snkj ds fdlh Hkh dk;Z ds fy, nk;h 

ugha gksrhA 

 lk/kkj.kr%] ysfdu vdkV~;r% ugha] ,d lk>snkj dk fnokfy;k gksuk QeZ dks lekiu dh vksj 

ys tk;sxk] ysfdu lk>snkj ,slk Bgjko djus ds fy, iwjh rjg ls l{ke gS] fd ,d lk>snkj 

ds fnokfy;k gks tkus ls QeZ dk lekiu mRiUu ugha gksus nsaxsA  
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lk>snkj dh e`R;q (Death of a Partner) %&  

 e`rd lk>snkj dh lEifÙk mldh e`R;q ds i'pkr~ QeZ ds fdlh dk;Z ds fy;s mÙkjnk;h ugha 

gksxhA  

 turk dks vFkok QeZ ds lkFk O;ogkj j[kus okys O;fDr dks bl vk'k; dk uksfVl tkjh fd;k 

tk;s ;g vko';d ugha gSA  

 

 

 

 

 
__**__  
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PAPER : BUSINESS CORRESPONDENCE & REPORTING 
 

The Question Paper comprises of 5 questions of 10 marks each.  

Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three. 
 

 

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS) 

 

Answer 7: 

(a) Non-verbal communications such as body language and visual cues affect the quality 

of interaction among individuals or group. An individual's facial expressions, stances, 

gestures, touches, and other physical signals constitute body language of 

communication. For example, leaning forward may mean friendliness, acceptance 

and interest, while crossing arms can be interpreted as antagonistic or defensive 

posture.  

 

Answer: 

(b) (i) Glittering 

 (ii) Inconstancy  

 (iii) Varun said that Every Kid should learn coding.  

 

Answer: 

(c) "Electronic Gadgets"- Risky affair for youth. 

 It is very common these days that people use electronic gadgets in every sphere of 

life. For the sake of listening music they overdo it and risk there life. There are some 

live examples. An electrician failed to repair the iron because of his earphones 

addiction. You may find many earphone addicts commute by the metro every day. 

We sported a duffel bag and the bomb scare lasted for several minutes. Suddenly a 

youth came and took his bag and he is totally unaware of the situation just because 

of his earphones addiction.  

 

Answer 8: 

(a) (i) The possible reasons behind employees quitting the company after acquiring 

higher qualifications could be an unstable future and lack of growth in ABC 

Insurance Co. Ltd.  

 (ii) Yes, there is a need to amend the policy of educational reimbursement. For 

ex:  an employee shall at least serve the company for a minimum of three 

years after seeking such reimbursement.  

 (iii) In order to overcome high employee attrition problem, employer should 

ensure the upgraded level of company. Employees should be provided with 

utmost growth and ensured satisfaction.  

 

Answer: 

(b) (i) Recycling 

  1. Meaning  

   1.1 Prcs. of reusing 

   1.2 Imp. to recycle  
    1.2.1  to save natural resources  

  2. Waste recycling 

   2.1 Help to save energy 

   2.2 Reduce pllutn. 
   2.3 Imp for envt. & humans 
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  3. Plastic Material  

   3.1 Reduce Pollution 

    3.1.1 Water Pollution 

    3.1.2 Air Pollution  

   3.2 Imp to have waste disposal system  

   

  Key Note – 

  1. Prcs  - Process 

  2. Imp - Important 

  3. Envt - Environment 

  4. & - And 

  5. Sysm - System  

 

 (ii) Summary : 

  Recycling is regarded as the process of reusing the items which are generally 

regarded as waste but are of great utility. It ensures the conservation of 

natural resources for future generation along with saving energy. Recycling of 

plastic material also helps in reducing air and water pollution. In short, we 

can say that recycling is the best way to have ecofriendly environment.  

 

Answer 9: 

(a) Listening for Understanding : We are bombarded by noise and sound in all our 

waking hours. We 'hear' conversations, news, gossips and many other forms of speech 

all the time. However, most of it is not listened to carefully and therefore, not 

understood, partially understood or misunderstood. A good listener does not only listen 

to the spoken words, but observes carefully the nonverbal cues to understand the 

complete message. He/she absorbs the given information, processes it, understands its 

context and meaning and to form an accurate, reasoned, intelligent response.  

 The listener has to be objective, practical and in control of his emotion. Often the 

understanding of a listener is colured by his own emotions, judgments, opinions, and 

reactions to what is being said. While listening for understanding, we focus on the 

individual and his agenda. A perceptive listener is able to satisfy a customer and 

suggest solutions as per the needs of the client.  

 

Answer: 

(b) (i) The entire stretch of highway was cleaned by the crew. 

 (ii) The homeowners remodeled the house to help it sell. 

 (iii) Socrates said that virtue is its own reward.  

 

Answer: 

(c)   The Pros and cons of online education in India 

         - By XYZ  

 Pros and Cons of Online Classes – The widespread outbreak of coronavirus has 

led to moving towards online classes by schools, colleges, coaching's, etc. Although 

online classes were already in place in many places, COVID-19 has paved a new way 

of teaching all over the country through online classes. Almost all schools, colleges, 

universities, etc. have now started online classes for the students so as to continue 

the studies in this time of pandemic. These online classes are being helpful for the 

teachers and students in completing the syllabus of the class which has not been 

possible in any other way. At present, both teachers and students have adopted this 

new model of education and are trying to get used to it with each passing day. But 

along with various advantages of online classes, there are some disadvantages too. 

Students are facing some difficulties in online classes like difficulty in clearing doubts 
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properly, network issues and many more. Along with this, many still belive that 

online classes can never be an alternative to brick and mortar classes. Here, we have 

listed some of the pros and cons of online classes. Read the full article to know about 

all the pros and cons of online classes.  

 Pros of Online Classes  

 Following are the pros of online classes-  

 Study Anywhere – Online classes are available to a student sitting anywhere in the 

world provided he/she has a proper internet connection. So, if students are not in 

the city of their school or college then also they can avail the online classes easily. 

All they need to have is a working internet connection. 

 Elimination of travel time and Cost –  

 Online classes have eliminated the time and cost required to reach the school or 

college. In this way students are saving a lot of their precious time which they can 

utilize in any other productive work. Also, the cost incurred in daily travel to school 

and back to home has been totally eliminated with online classes. 

 Prevention of loss of studies – In this time of pandemic, online classes have come 

up as a boon for students. This is because if schools and colleges did not use online 

classes for studies, students would have wasted a lot of time in the session and it 

would have been really difficult to cover the entire course later. Through online 

classes, the session is going on at a similar pace as it would have been in offline 

classes.  

 Individualized study – Online classes provide an individualized study environment 

to a student where he/she can study alone. Many times, students become shyt in 

asking queries in front of the entire class but in online classes no one is around, so 

students can easily ask questions. 

 Moreover, this individualized study also prevents students from any kind of 

disturbance.  

 Monitoring by Parents – With the help of online classes, parents are also able to 

check and know what their children are studying, how teachers are teaching in the 

class. Also, they can also motivate their children to take up doubts. Basically, online 

classes also involve parents in the studies of students which was not the same in 

case of offline classes. 

Introduction to new technologies – Online classes have introduced students to 

new technologies. They now know how to use a particular software through which 

the school is teaching or have knowledge about various other platforms which are 

being used for online classes. So, these classes are also making the students 

technologically advanced. 

Cons of Online Classes 

As online classes have emerged as the only solution for education during lockdown, 

there are many cons related to it. However these can be minimized with a little care. 

Network Issues - One of the biggest problems of online classes is network issues. 

It has been seen students struggle a lot to connect to the session due to internet 

issues. Many times, teachers are not audible, not visible and much more. In such 

cases of network disruption, all the students start to talk at the same time which 

again creates another mess. So, network issues must be resolved for proper 

conduction of online classes. 

Lacks One to One teaching - Online classes lack one to one teaching means these 

lack proper communication between students and teachers. Although students have 

the option to ask their queries in the online classes also but students find it difficult 

to get their doubts solved in a proper way. So many students are asking or putting 

their queries in the chat section that some are missed. 

Continuous Use of Mobile/Laptop - One major concern of online classes is 

that students have to be on electronic devices like mobile phones, laptops or tablets 
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continuously for 5-6 hours. This is not beneficial for students and will also cause 

health issues like eye strain to the students. 

Requires Self-Discipline - In online classes, teachers are not able to monitor the 

students in the same way as offline classes, so these require a student to be self-

disciplined. If a student is not disciplined, he/she may not pay attention to what the 

teacher is teaching in the class. 

Proper utilization of online classes can lead to a new model of education involving 

online classes along with offline classes. But, proper care should be taken to 

minimize the cons of online classes. 

 

Answer 10: 

(a) Formal communication: Formal Communication, both oral and written, follows certain 

rules, principles and conventions in conveying the message,. The hierarchy in the 

organization has to be followed. Formal format, style and language have to be used. 

The communication pattern can be vertical, horizontal or diagonal.  

OR 

 Encoding is the process of turning thoughts into communication. The encoder uses a 

'medium' to send the message – a phone call, email, text message, face-to-face 

meeting, or other communication tool. The level of conscious thought that goes into 

encoding messages may vary. 

 

Answer: 

(b) (i) Brief 

 (ii) Mysterious 

 (iii) The angry mother jeered to her son if he supposed that he knew better than 

his own father.  

 

Answer: 

(c)    Project to interconnect rivers in India 
         - By XYZ 

 New Delhi, 16 July. The interlinking of river project is a Civil Engineering project, 

which aims to connect Indian rivers through reservoirs and canals. The farmers will 

not have to depend on the monsoon for cultivation and also the excess or lack of 

water can be overcome during flood or drought. You will be surprised to know that 

India has approx four percent of the water available, and India's population is around 

16 percent of the world's population. But every year, hundreds of millions of cubic 

cusec water flows into the ocean and India has to meet its needs with only 4 percent 

of the water.  

 Every project has two aspects, but we should focus on how much more people will 

get benefit from this project. This article is based on the interlinking of the river 

project, in which its history and the benefits of this project are explained. 

 What is the interlinking River project? 

 This project will connect 60 rivers of India, including river Ganga.  

 Hopefully, with the help of this project, there will be ad reduction in the dependence 

of farmers on uncertain monsoon rains and there will also be millions of cultivated 

land for irrigation. This project is divided into three parts: North Himalayan river link 

constituents; Southern Peninsular Component starting from 2005, Interstate 

interlinking of rivers. This project is being managed under the National Water 

Development Authority of India (NWDA), Ministry of Water Resources.  

- This project can solve the problem of drought and flood because at the time of 

need the river which causes flood can give water to the area of the river which has a 

shortage of water because the water can be stored or water can be transferred from 
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water surplus area to the deficit. Ganga and the Brahmaputra region can get rid of 

floods that come every year with the help of this project.  

- The irrigation, land will also increase by about 15 percent. 

- 15,000 km of river and 10,000 km of navigation will be developed. Thereby 

reducing the transportation cost. 

- Large scale afforestation and about 3,000 tourist spots will be built.  

- This project will solve the problems of drinking water and financially also will solve 

the problem.  

- It is also possible to get jobs for landless farmers in rural areas. 

Disadvantages of Interlinking River Project 

There may be advantages as well as disadvantages of the project. Rivers are being 

considered an integral part of our life from the beginning, and any kind of human 

intervention can prove to be destructive. For the completion of the Interlinking River 

project, many big dams, canals, and reservoirs will have to be constructed due to 

which the surrounding land will become swampy and will not be suitable for 

agriculture. This can also reduce the production of food grains. Where or in which 

area to bring so much water, which canal is to be transferred, it is mandatory to 

study and research it adequately. The cost of this project in 2001 was Rs. 5,60,000 

crore but in reality, there is a possibility that it will be more. 

Taking the water of Ganga above the Vindhya towards Cauvery, will cost a lot more 

and for this, large diesel pumps will be used, more than 4.5 lakhs people will be 

almost displaced, 79,292 forests will also be submerged in water. It can also be 

understood that without joining river the reality, there is a possibility that it will be 

more.  

Taking the water of Ganga above the Vindhya towards Cauvery, will cost a lot more 

and for this, large diesel pumps will be used, more than 4.5 lakhs people will be 

almost displaced, 79,292 forests will also be submerged in water. It can also be 

understood that without joining rivers, the problem of flood and drought can be 

solved.  

 

Answer 11: 

(a) Wheel & Spoke Network : 

 This is an organization where there is a single controlling authority who gives 

instructions and orders to all employees working under him/her. All employees get 

instructions directly from the leader and report back to him/her. It is direct and 

efficient for a small business/company, but inappropriate way of communication in a 

large organization with many people. A company with many employees needs more 

decision makers or nothing would get done. Can a large conglomerate like Reliance 

or Tata Sons have one person making decisions? Moreover, if the central figure is not 

competent, the entire business will suffer.  
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Answer: 

(b) (i) To be a pioneer 

 (ii) Perplexed 

 (iii) Will a story be told by you? 

 (iv) Conflict 

 

Answer: 
(c) Letter informing about the postponement of interview date  

 Sender's address 

 Date 

 Receiver's designation 

 Receiver's address 

 
 Subject – Letter regarding the postponement of interview date  

 Dear Mr Bansal  

 This letter is to inform you that the interview that was scheduled with Mr. Gupta, 

CEO, ABC Company, has been postponed. The interview was planned to take place 

on 1 Oct, 2020 but this has changed. The meeting has been postponed to 15 Oct, 

2020. The venue and the timing of the interview meeting however remains the 

same.  

 It has been postponed due to some unavoidable circumstances. In case of any other 

queries, you can either revert to the same letter or drop in an e-mail on our official 

email id.  

 

 We apologies for the inconvenience caused. 

 

 Thank you  

 

 Yours sincerely 

 Name of Sender 

 Designation of Sender 

 

 

 

 

__**__ 
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